renzschwelle
+040,1s A 6,3<:d/|% hyp3

log AL Leuchtdichte-Diffenz- Lg=S, . din?
>

———F A —
(')' 1 gleogL




log(L/AL) Leuchtdichte-Kontregt-—
O e ot oe ot 3cdlint

+040,1s A 6,3<:d/|% hyp3

—_— e e —
(|)- 1 5X=IogL




L/AL Leuchtdichte-Kontrast- =
Empfindichkeitsschwellsg=6.3cdi

401 040,1s A 6,3cd/f hyp3

30T

20T

10T

) A e
3 -2 -1 0 1 2 Xx=logL




T* Leuchtdichte-Diffenz- -
renzschwellensumme L g6 3can

g0 04 0,1s A 6,3cd/f) hyp3

60T

40t

20--

(1] e s S PO

-3 -2 -1 0 1 2 X=logL




